


Giebel Fenster/Gable window

1350

A68-1
51x51
[ e—
5950
5350
‘ 5150 |
, 2488 L 2488 ,
1 184 920 784 H 184 920 . T8k 1
3 A =
— f 80x 14 80x 14 f éﬁ
SUT-LT SUT-LT
| 80x195.5 80x195.5
P P
© o u?“: “:u?
2| 18 5%
N <2 <
® TU3-GH-+
142.5x195.5
J - T T —
— 150.6x114
Il AG8-5 I
|‘ 500 1626 863 1545 500 ‘|
[ [
o I I
= I TR
[ [ ~
[ [
[ [
=l I ||
ot :H::::::::::::::::::::::::::::H:l T@
~ [} [} L
| 400 || 4970 | | 400 |
90 90
Cg 0 0,5m m 2m 5
T oe—
> - Schlafboden/sleeping floor Name Stockholm A 535x535+VD 58
Zeichnung/Drawing GrUﬂdplan/Plan E;uck auf/print All-
* Fenster und Tiren sind mit Sprossen/ w— P——— P——
Windows and doors are with muntins | o T:40Q rofirrore - 5.8x13.5 erambete - 21.05.2018




5130

V 4994 »
g FH& !
o 2453 2453 >
68 3 Fys e FH5 68
~ /
wn
<
3 s FHS
m m
N Z||IE /
Y3 Fws FHS
~ /
2
g FHL
m 3 =3 /
N 3 o
" 3 FH6 T
: /
3 FH6
3
3 % y
3 FH6
[a)) /
)
3 FH6
3 /
[Wa)
g FHL
N 3| / FHL
A
~
3 FH6
o — ~ —
N I m I
sd L N T
3 FH6
g
L o
g FH4
V4
~
o

S
T

a*%ﬁ

Tes

Name

Stockholm A 535x535+VD 58

Zeichnung/Drawing

Lagerholzplan/Foundation plan |,

Druck auf/print A ['_

Mafltab/Scale

1:4Q

Profil/Profile

5.8x13.5

Datum/Date

21.05.2018




boe Teileliste/Specification Stk Pprrooffi{le LLeénnggTeh
Stockholm A 535x535+VD 58 P () (mm)
001 5! 0 ) 1| 58x135 | 5350
002 o 02 0 1| 58x135 | 5350
003 o i | m 2 | 58x135 | 5350
004 ! — ! — 7 10 | 58x135 | 5350
005 ! =5 ! - i 2 | 58x135 | 5350
006 at i e 2R b B 2 | 58x135 | 5350
007 ite 2= B I e ] 2 | 58x135 | 5350
008 it = i 2 | 58x135 | 5350
009 i — = — 1| 58x135 | 5350
010 ot — ! — 7 1| 58x135 | 5350
011 ot e ! e 7 1| 58x135 | 5350
012 it — - . m 1| 58x135 | 5350
013 it — ! — i 6 | 58x135 | 5350
014 it = ; = i 1| 58x135 | 5350
015 it e ; e i 1| 58x135 | 5350
016 m n y e m 1| 58x68 | 5350
017 . 2 o - ) 1| 58x135 | 5321
018 . 25 o 2 ) 1| 58x135 | 5321
019 T = | | 2 | 58x135 | 5299
020 [ — e 2 o 2 | 58x135 | 4975
021 1| 58x135 | 4769
022 1 L 1| 58x135 | 4239
023 q N 1| 58x135 | 3339
024 1| 58x135 | 3179
025 m 2 : 1| 58x68 | 3147
Kood  Stockholm A 535x535+VD $8laterjal File  Stockholm A 535x535+VD 5§ldefg 1/7




o Teileliste/Specification stk Srofil | e
Stockholm A 535x535+VD 58 Pes) Tinm) | (mm)
026 it S : 5 | 58x135 | 3147
027 i — 2% : 1| 58x135 | 3147
028 — - 7 18 | 58x135 | 2885
029 o 7 1| 58x135 | 2675
030 ot —= 1| 58x135 | 2675
031 . 1| 58x135 | 2649
032 . . 1| 58x135 | 2649
033 o e 1| 58x135 | 2649
034 R e ol 1| 58x135 | 2304
035 ot == 7 15 | 58x135 | 2304
036 f o 0 2 | 58x135 | 2175
037 — " 1| 58x135 | 2124
038 b 1| 58x135 | 2124
039 — | 2 | 58x135 | 2070
040 | 4 t—T1 |h 1| 58x135 | 2029
041 | T . 1| 58x135 | 2029
047 - i 2 | 58x135 | 1805
043 o ~ 1| 58x135 | 1660
0L L o i 1| 58x135 | 1660
045 A - 2 | 58x135 | 1634
046 [ | 1| 58x135 | 1634
047 - 1| 58x68 | 1626
0L8 ST 22 | 58x135 | 1626
049 5 e—— 1] 58x135 | 1610
050 o 0 1| 58x135 | 1610
Kood  Stockholm A 535x535+VD $Mater jal File  Stockholm A 535x535+VD 58ldefyf  2/7




boe Teileliste/Specification Stk Pprrooffi{le LLeénnggTeh
Stockholm A 535x535+VD 58 P () (mm)
057 3 | 58x135 | 1590
052 D —— 1| 58x135 | 1584
053 e 1 | 58x135 | 1584
054 - T~ 2 | 58x135 | 1395
055 C 5 2 | 58x135 | 1354
056 1| 58x135 | 1320
057 1| 58x135 | 1320
058 C 2 | 58x135 | 1275
059 N 2 | 58x135 | 1065
060 - 3 | 58x135 | 1060
061 e 1| 58x135 | 1055
062 — T~ 1| 58x135 | 1055
063 o 2 | 58x135 | 944
06k 5 E— 28 | 58x135 | 9472
065 G 2 | 58x68 | 942
066 i — 16 | 58x135 | 947
067 ” ” 8 | 58x135 | 863
068 [ —— 18 | 58x135 | 839
069 o 1| 58x68 | 658
070 "] 22 | 58x135 | 658
071 S — 1| 58x135 | 604
072 — 1| 58x135 | 604
073 —_ 2 | 58x135 | 525
074 S L | 58x55 | 375
075 ~ 2 | 58x132 | 260
Kood  Stockholm A 535x535+VD §®later jal File  Stockholm A 535x535+VD 58ldelg  3/7




o Teileliste/Specification Stekl g o f;ﬂ%ﬁ
Stockholm A 535x535+VD 58 Pes| T mm) (mm]
076 oA 2 | 58x135 | 258
077 ~ 6 | 58x117 | 230
078 ~ 65 | 58x88 172
079 -~ 7 | 58x58 15
080 -~ 1 | 58x58 15
_ KANT_TALA
UT 0 £00 ki o 5 | 58x135 | 5350
FUNDAMENTHGLZ (impragniert) - FOUNDATION BEAM (impregnated)
FH? | 2 | 68x9L | 5111
FUNDAMENTHGLZ (impragniert) - FOUNDATION BEAM (impregnated)
FHL | 5 | 68x9L4 | 4994
FUNDAMENTHGLZ (impragniert) - FGUNDATION BEAM (impregnated)
FH1 | 2 | 68x9L4 | 1829
FUNDAMENTHGLZ (impragniert) - FOUNDATION BEAM (impregnated)
FHE | 7 | LLx9L | L99L
FUNDAMENTHGLZ (impragniert) - FOUNDATION BEAM (impregnated)
FHS 6 | LLx9L | 2453
FUNDAMENTHGLZ (impragniert) - FGUNDATION BEAM (impregnated)
FH3 | 2 | LLx9L | 1947
WASSERSCHUTZBRETT - COVER BOARD
BLZ — 11 145x18 | 145
200 1742 PRETTER 59%%RL|N 1988 200
PRy _ 7| 1| 80x200 | 7350
200 1747 PRETTEN = PORUIN 5034 200
PF2 |y T 7| 1| 80x200 | 7350
PFETTEN - PURLIN
PF3 | ¢ ffl Lz 203 2001 80x200 | 7350
PFETTEN - PURLIN
PFL | 4 Eﬁ_ a2 0% _fj 11 80x200 | 7350
PFETTEN - PURLIN
PFS | ﬁﬁ_ L 209 _ 198 Ifj 11 80x200 | 7350
132+2|  113x18
DACHBRETTER - ROOF BOARDS N N\ oder/or & 22 0.y agrrg | 3340
FUSSBODENBRETTER - FLOOR BOARDS . 7 15+1 13x28 | 2985
FUSSBODENBRETTER - FLOOR BOARDS . 7 | LL| 13x28 | 1985
SCHLAFBODENBRETTER - L5+1 113x718
SLEEPING FLOOR BOARDS R\ NI oder/or & 27 [5g.1 soxig | 198
TERRASSENBRETTER (impragniert) -
TERRACE BOARDS (impregnated) 222224 |2+ 120x28 | 1800
58 ()
ABDECKLEISTEN - COVER STRIPS 7 \/ 15%28 |
7 15 0
SCHLAFBODENLEISTEN = SLEEPING FLOOR STRIPS \/ 18x60 |
Kood  Stockholm A 535x535+VD $®aterjal File Stockholm A 535x535+VD S8ldard  4/7




FUSSBODENLEISTE - FLOOR STRIPS % \/ T4 x55 lfgmh/lgm

G1-1 | GIEBELBRETTER - GABLE BOARDS 120X18 27° 7 \/ L1 120x18 | 3420

G2-1 | GIEBELBRETTER - GABLE BOARDS 90X18 27° W« % \/ L 90x18 3470

G3-1 | GIEBELLEISTE - GABLE STRIPS 58X18 27° \/ L 58x18 3470

G5-1 | GIEBELDECKLEISTE - GABLE COVER STRIPS 58X18 \/ L 58x18 3470

12-1 | TRAUFENBRETTER - EAVES BOARDS 90X18 % 7/ 90x18 3675

T4-1 1 TRAUFENLEISTE - EAVES STRIPS 40x168 \/ L L0x18 3675

GS GIEBELSEGMENT - GABLE DIAMOND <> /

SP2-1| STUTZPFOSTE - SUPPORT POST 90x90 &% AL \/ Z 90x90 | 2295
T-LEISTEN - T-STRIPS 58 | 2 55x 45 90
T-LEISTEN - T-STRIPS 58 77| 6 55x 45 1030
T-LEISTEN - T-STRIPS 58 77| b 55x 45 1165
T-LEISTEN - T-STRIPS 58 7] 6 55x45 19077
U-PROFIL - U-PROFILE 58 g % \/ 7 9hxhl | 1060
U-PROFIL - U-PROFILE 58 g 7 \/ 1 ShxbLil | 2230

SH SCHLAGHOLZER - MOUNTING PIECES E@ 3

s | ERONGSTREREN fr e i - 4

P2 | e e e & | 2| e

ML1 | Merallstange - Metal bar L D10 900
ML?2 | Metallstange - Metal bar Z D10 170
ML3 | Metallstange - Mefal bar L D10 630
MLL | Metallstange - Metal bar 3 D10 360
KL1 | Gewindesftange - Threaded Rod M8 Oy | 4 M8 2000
KL?2 | Gewindestange - Threaded Rod M8 7 M3 1110
KL3 | Gewindestange - Threaded Rod M8 L M3 663
Kood  Stockholm A 535x535+VD H®lateral File  Stockholm A 535x535+VD 58ldehg 5/7




ol . Profil | Lange
S Teileliste/Specification Stck Srofile |Lendth
Stockholm A 535x535+VD 58 Pcs. (mm) (mm)
KL4 | Gewindestange - Threaded Rod M3 ODMME]/ 7 M3 570
KL> | Gewindesfange - Threaded Rod M8 )00 M3 270
Mutter - nut M8 U-Scheibe - washer 425 ) 20 M3
Befesfigungsmufter - fixing nut M8 L M3
NGOL | DACHPAPPNAGEL - ROOFING NAILS 2.0x18 —{ (1000
NGO2 | NAGEL - NAILS 2.5x50 Jachbrefter - Roof boards 1 {1596 oeror
| Schlafbodenbrefter - Sleeping floor boards 19401 "58y18
NGO3 | NAGEL - NAILS 2 560 Fussbodenbretfter - Floor boards q 11316
lTerrassenbreffer - Terrace boards
SRO1 | SCHRAUBEN - SCREWS 3.0x30 Abdeckleisten - Ceiling trims s | 746
Fussbodenleisten - Floor strips
Traufenleisten - Eaves strips
SR03 | SCHRAUBEN - SCREWS 3.5x45 Giebelbretter - Gable boards (1388
Giebelsegment - Gable diamond
Traufenbrefter - Eaves boards
Fenster- und Turleisten - Window and door sfrips
Verbindungsstreifen - Connecfing sfrips
U-Profil - U-profile
Wasserleisten - Rain strips WL |
SR05 | SCARAUBEN - SCREWS 4.0x60 Wasserschutzbrett - Cover board 5
<R11 | SCHRAUBEN - SCREWS 5 0x100 Fundamentholzer - Foundahin beams 96
SR10 | SCHRAUBEN - SCREWS 5.0x70 >fufzpfoste = support post 20
Pfostenstutze - Post support
60,0
DACHPAPPE - ROOFING FELT @ v fom-8st |
TR-1 1 TREPPE - LADDER M 1 2600
L FENSTER/WINDOW 510x570 1
| |
510 L1 A6B-1
S | |
= L1 18x90 L=750mm  2x
L N N L2 18x90  L=630mm  4x
L3 18x90 L=510mm 2x Vv
| 3 WLT 36x129 L=750mm  1x
FENSTER/WINDOW 800x1140 /
WL1
|
800 L1
Ce———— | | A68-3
L1 18x90  L=1040mm  2x
<l T T w L2 18x90 L=1260mm hx
=| || |== | — L3 18x90 L=800mm 2xV
T A WL1 36x129 L=1040mm 1x
e ﬂ"rl_
N L3V
Kood  Stockholm A 535x535+VD b#later jal File Stockholm A 535x535+VD S58ldarg  6/7




Teileliste/Specification Profil | Lange
Pos X SPTCR Profile |Length
Stockholm A 535x535+VD 58 CS. (mm) (mm)
FENSTER/WINDOW 1506x%x 1140 3
WL 1
| |
1506 K
P ] | | A68-5
> J L1 18x90 L=1745mm  2x
<l T~ L2 18x90 L=1260mm 4x
= . ] = — 3 18x90 L=1505mm 2x v
11 A N WLT 36x129 L=1745mm X
B | | = |
TUR/DOOR 800x1955 /
300 L1
SUT LT
: : L1 18x90 L=1040mm 2x
: : L2 18x90 L=1955mm 4x v
§ :g : o~ o DIN Txrechts + Ixlinks
1, : Ixright handed + 1xleft handed
| | L | L |
TUR/DOOR 1425x1955 1
WL 1
| |
14,25 L1
e ] | | TU3-GH+
L1 18x90 L=1665mm 2x
. . L2 18x90 L=1955mm Lx v
| | WL1 36x129 L=1665mm 1x
ik ; 1N . DIN rechts/right handed
: | 1] | : i i
\/ - Bitte selber anpassen (falls notig)! / Cut info length on sife (if needed)!
Kood  Stockholm A 535x535+VD H8lateral File Stockholm A 535x535+VD 58 lderg Al




Montageanleitung fur T-leisten / Installing the door and
window supports / Tenderliistu paigaldusjuhend.

\

—

T-Leiste einschieben/

Slide the support into the groov /
Aseta tenderliist seinapalkides

/ olevasse soonde

\

N

\\

Y

¥
\

W

x

Absetzlicke /
Gap for settling /
Vajumismaa

Von unten fixsieren
(optional) /
Fix only the bottom

part (optional) /
Kinnitada ainult
alumisest otsast

(soovi korral)

_— |




(HS / +HD)

g9V - 8dA1 mopuipn / Al Jsisua- / dnn euyy

\
\\

\ [

-

\
\ \ \

A,
3

Ek

P

i LA
/\@

LN
\/

S
/
/7
/\
S5/
s A

7 INT
\/ /

wwoe-0T7 -

idN
GPXG'€E




Vihmaliist / Rain strip / Wasserleiste

Silikoon
Silicon
Silikon

Vajumispilu m

Settling gap
Senkungs spalt N
40-50mm

% %

NB!

- Monteerida juhul kui ese on vélja toodud maja spetsifikatsioonis!
- Install only if the item is listed in the house specification!

- Nur montieren wenn die Leiste in der Teileliste gezeigt ist!




Ukse montaaZz / Tir montage / Door assembly

(GH+ / SH) 4.5x90 —

4.5x90










Giebeldeckleisten 7350
Gable cover boards 200

/ Dachbretter -
E /Roof Boards B B

Giebelbreffer B B
a Gable boards N B

\Dachbatken H H -
Roof beams ] u u

LS - -

-

MLL
MLL
ML L
MLL

=017 -

036
H—0—0—0—THH g,
0283
028
028
078
078
078
0283
= = 028
= = | 028
— = | 005
— H | 004
= = 004
= = = 004
= = = 004

Wand/Wall A T~ ‘ L | 004 —

T-Leistef .
T-strip —

2565

90x90
I

00 0O CO CO 0O QO OO CO CO
1230
[

n“_
Ul
=<
5
=
3
3
[T
O DD DO OO DO DO OO
N Oy ON O O O O O O

R

681 1626 681 1988

U+
o
U+
oo+
Ul
oo+
N

10 00

{ 1800 3046 L 2046 {

<:>,
<:>%7
<:>g
<:>,

5350

Verbindung innerhalb des Zapfens/
Inside tenon connection

0 0,5m m Z‘m

Name Stockholm A 535x535+VD 58

Zeichnung/Drawing \/\/ A N D / \/\/ A |_ |_ A Druck auf/print A [|-

Mafitab/Scale /l : L|- O Profil/Profile 5 . 8 X 1 3 . 5 Datum/Date 2 1 . O 5 . 2 O /| 8




2304

s 0 034

A | 035

7 | 035

A ] 035

A ] 035

A | 035

A | 035

A | 035

A | 035

7 | 035

A ] 035

A ] 035

A | 035

A | 035

A | 035

0 | 035

U+
oo+

1800 {

U1-F
(@6)

u
oo+
N

00

H
—
FHL,
H
FH

FHOE
—

TT3g

B
FHL

2304

FHL
]

2795

Zm

Name

Stockholm A 535x535+VD 58

Zeichnung/Drawing

WAND/WALL B | greckesuf/erint A

Mal3tab/Scale

1.40

ProfivProfile. £ 8,13

Datum/Date 21052018




1350

LS - -

HLI C . =T o018
- - -[b20 1036
H—0—0—0—THH g,
T-Leiste | 028
T-strip | i 1 028
- ] 028
- ] 028
028
- ] 028
- ] 028
- ] 028
- ] 028
- ] 005
- ] 004
- ] 004
- - ] 004
- - ] 004

Wand/Wall C T~ ‘ L | 004 —

—
-

ML L
ML 4
MLL
MLL

2565

90x90
I

00 0O CO CO 0O QO OO CO CO
1230
[
[

n“_
o
=<
5
o
3
3
[T
O DD DO OO DO DO OO
N Oy ON O O O O O O

R

681 1626 681 1988

U+
o
U+
oo+
Ul
oo+
N

10 00

{ 1800 3046 L 2046 {

@
@ﬁ
@
@

5350

Verbindung innerhalb des Zapfens/
Inside tenon connection

0 0,5m m Z‘m

Name Stockholm A 535x535+VD 58

Zeichnung/Drawing \/\/ A N D / \/\/ A |_ |_ E Druck auf/print A [|-

on

Mafitab/Scale /l : L|- O Profil/Profile 5 . 8 X 1 3 . 5 Datum/Date 2 1 . O 5 . 2 O /| 8




Dachbretter
Roof boards
Traufenbrefter 0

Gable boards | | T
Traufenleisten o
Faves sfrips 07
eyp <ﬂ
079 o 058 I-Leisfe|
KL1+KL3 = 055 T-sfrip = KL1+KL3
L 042 S
s 039 7| i
H . HI| 012
27,0:\ s - H| 013
] o Al 014 0
HH HH =
1H 066 s 048 HT] 066 =
H 066 | Tcfrotl - 048 | Tcfrnc] H[| 066
s 066 H 048 [l 066
[ H 066 < m 0L8 < Al 066
| 066 & m 048 & Al 066
[ H 066 m 048 || 066
| 066 m 048 || 066
[ H 066 m 048 Al 066
s H =[] 015
s H Al 013
[ H m Al 013
[ H m =[] 013
[ H m 1l 013
N H A1l 013
Wand/Wall 1 il 1 016 —
T
- 18L , 970 \ 184 o 184 \ 9720 % 18L o
100 58 58 58 100
| 7546 | 7546 |
0% T
L 5350 o
Wandbohlen
Wall logs
Fussbodenleisfe Oi:O’Bm—W Zim
é; Floor strip
Fussbodenbreffer Name
gg Floor boards Stockholm A 535x535+VD 58
A
Fundamentholzer Zeichnung/Drawing WAND/WALL 1 Druck auf/print Ali-
Foundation beams on

Mafitab/Scale /l : L|- O Profil/Profile 5 . 8 X 1 3 . 5 Datum/Date 2 1 . O 5 . 2 O /| 8




Wand/Wall 2 T

10

| H H H | 010
H g H o
| Uok T-Leiste ] Uee T-Leiste 1 06
H 064 | —ceste R 048 | et H ] o6t o
i T . obg | P 1] o6 =
M 064 N 048 H | 064
H 064 g 048 H ] 064
H 064 . 048 H | 064
H 064 0 - 048 0 ] 06L
H 064 & g 048 & H] 064
oy 064 N 048 1 | 064
M 064 N 048 H | 064
M 064 N 048 H | 064
H 064 - 048 064
H 064 g 048 H ] 06k
H 064 H 048 H 06
065 _— 047 — 065 1

184 920 184, 784 920 L 18h

58 58 58 100

{ 2546 ‘ 25L6 {

0T T

- 5350 -
0 0,5m m Zm
e —— |
Name

Stockholm A 535x535+VD 58

Zeichnung/Drawing

WAND/WALL 2 oruckavt/print A L,

Mal3tab/Scale

1.40

ProfivProfile. £ 8,13

Datum/Date 21052018




2 Al
079 -
KLT+KL3 -
o
iy il e
m 070 067 =l 070 ©
| — Hgsig et m—
L] 070 067 Al 070
iy 070 < 067 H|| 070
| 070 ™ 067 Al 070
L] 070 067 Al 070
L] 070 067 £ 1l 070
L] 070 067 = Al 070
L] 027 Al 070
L] 076 Al 070
L] 026 Al 070
L] 026 Al 070
L] 026 Al 070
L] 026 A1l 070
Wand/Wall 3 T 025 _ 069 _
~ 500 . 1626 . 863 . 1545 . 500 o
100 58 58 100
Ci) 5092 {
BE= T
o 5350 H-
0 0,5m m 7m
e i
Name

Stockholm A 535x535+VD 58

Zeichnung/Drawing

WAND/WALL 3 oruckavt/print A L,

Mal3tab/Scale

1.40

Profil/Profile

5.8x13.5

Datum/Date 210520/'8




Giebelsegment
Gable diamond

7 L
AIIN077
Giebeldeckleiste 58x18 m 060 L
Gable cover strip 078/ o= 051
Giebelbretter qff)q 0L6 78 jjjg
Gable boards [ = 033
o =
079 o J 059 = 059 )
063 063 079
o= 054 Punn saefud i b
E OLFL* Feder abgesagt/ . OQE
_ \W 038 Cut the fongue (Bgm
e ] 002 .
2
Wand/Wall & T S =
4 5350 1
| 5097 {
T[] 0
0 0,5m m Zm
 —— |
Name Stockholm A 535x535+VD 58
Zeichnung/Drawing WAND/WALL [|- Druck auf/print Ali-
on
Mal3tab/Scale 140 Profil/Profile 58)(135 Datum/Date 21052018




